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CBT Practice test model answers

Costs and Revenues (CRS)

Practice assessment 1
Section 1
Task 1.1
[image: image2.png](a) Complete the entries in the inventory record for the two receipts on 24 and 28 December.

(b) Complete ALL entries in the inventory record for the two issues in the month and for the closing
balance at the end of December using the AVCO method of issuing inventory. Show the costs per kg
in£ to three decimal places and the total costs in whole £.

Inventory record for plastic grade XL5

Receipts Issues Balance
Date | Quantiy | Costper | Total | Quantiy | Costper| Total | Quantiy | Total
kg kg® |cost® | ko kg(®) |cost® | kg | cost(®)

[Balance as | 100) 119]
[24 December| s00| 1208 649 600 768
126 December| 00| 1280 4] 300 384
[28 December| 500 1304 s00[  103g)
30 December| 600 129" | 200





[image: image3.png]{c) Calculate the Economic Order Quantity (EOQ) for XL5 for next year.

[4s0 kg





Task 1.2

[image: image4.png]Drag and drop the correct entries into the Journal below to record the following FOUR accounting
transactions:

Debit Inventory, Credit
Receipt of plastic components into inventory paying on credit. Purchase Ledger Control

Debit Production
Issue of plastic components ffom inventory to producion. Credit Inventory

Debit Inventory
Receipt of plastic components into inventory paying immediately by BACS.  |Credit Bank

Debit Inventory
Retum of plastic components from production to inventory Credit. Production

[Deit Bank
(Credit Inventory

[Debit Purchase Ledger
(Control, Credit Inventory





Task 1.3

[image: image5.png]Employee’s weekly timesheet for week ending 7 December
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Task 1.4

[image: image6.png]Use the following table to allocate or apportion the overheads using the most appropriate basis.

Basis of
apportionment

Plastic
moulding

Plastic
extrusion

Maintenance

Stores.

General
Admin

Depreciation charge
for plant & equipment

[Carrying amount of plant and equipment

29

£
241245

3

3

804150

Power for production
machinery

[Production machinery power usage (KwH)}

429000

286000

715000

Rentand rates

[Floor space

20900

Lightand heat

[Floor space

5930

4620

23100

Indirect labour

[Allocated

240100

377300

Totals.

74330

2024050

Reapportion
Waintenance

Reapportion
Stores

20732

74330

Reapportion
General Admin

132810

132810

Total overheads to
production centres.

12946,

729375

2024050





Task 1.5

[image: image7.png](a) What would be the budgeted overhead absorption rate for each department, if this were set
‘based on their both being heavily automated?

Plastic moulding £20Mmour, Plastic exrusion £18our

Plastic moulding £20Mmour, Plastic exrusion £54mour

Plastic moulding £62Mour, Plastic exrusion £18our

Plastic moulding £62Mour, Plastic exrusion £54mour

(b) What would the budgeted overhead absorption rate for each department, if his were set based on

their both being labour intensive?

Plastic moulding £20Mmour, Plastic exrusion £18mour

Plastic moulding £20Mmour, Plastic exrusion £54mour

Plastic moulding £62Mour, Plastic exrusion £18our

Plastic moulding £62Mour, Plastic exrusion £54mour





Task 1.5, continued
[image: image8.png](c) Assuming that exactly the same amount of overheads was absorbed as budgeted, what were the.
budgeted under or over absorptions in the quarter?

Plastic moulding over absorbed £10,090, Plastic extrusion over absorbed £19,900

Plastic moulding over absorbed £10,090, Plastic extrusion under absorbed £19,900

Plastic moulding under absorbed £10,090, Plastic extrusion under absorbed £19,900

Plastic moulding under absorbed £10,090, Plastic extrusion over absorbed £19,900





Section 2

Task 2.1

[image: image9.png]CComplete the table below and calculate the estimated profit per batch of ZY24 at the different
activity levels.

|sales revenue 36,000 45000 60000
|Variable costs

|pirect costs 5400 6750 9000
|pirect lavour 12,600) 15750 21000
|overheads 7,200 9000 12000
|semi-variable costs 3780

|Variable element 3000 4000
[Fixed etement 1380 1380
[Total cost 28,980 35880 47380
[Total profit 7020 9120 12620
[Profit per batch (to 2 decimal places) 585 608 831





Task 2.2

[image: image10.png](a) Calculate the budgeted breakeven, in units, for product TR28.

[4500 units

(b) Calculate the budgeted breakeven, in £, for product TR28.

£ [t03500

(c) Complete the table below to show the budgeted margin of safety in units and the margin of safety
percentage if Broadsword Ltd sells 5,000 units or 6,000 units of product TR28.

IMargin of safety (units) [500 units 1500 units

IMargin of safety percentage 10 % 25 %

(d) If Broadsword Ltd wishes to make a profit of £20,000, how many units of TR28 must t sell?

7000 units





Task 2.2, continued
[image: image11.png](e) If Broadsword Ltd increases the selling price of TR28 by £1, what will be the impact on the breakeven
‘point and the margin of safety, assuming no change in the number of units sold?

“The breakeven point will decrease and the margin of safety will increase.

‘The breakeven point wil stay the same butthe margin of safety will decrease.

“The breakeven point wil decrease and the margin of safety wil stay the same.

“The breakdown point willincrease and the margin of safety willdecrease.





Task 2.3

[image: image12.png](a) Complete the process account below for December.

e x4
T T T T T rwo] e
e o ] 0w o
= ED
remeacs B

ST ST W

(b) Identify the correct entry for each of the following in a process account.

Abnormal loss

Abnormal gain





Task 2.4

[image: image13.png]Complete the table below to show a flexed budget and the resulting variances against this budget for the
year. Show the actual variance amount, for sales and each cost, in the column headed 'Variance’ and
indicate whether this is Favourable or Adverse by entering F or Ain the final column. If neither  nor A
enter 0.

Flexed o Variance  FaVOurable F, Adverse A
budget Neither 0
Volume sold 144000 144,000
2000 2000 2000
ales revenue 2880 3,600 720 3
Less costs:
birect materials 530 2% A
birect tabour 480 9% 3
loverheads 980 1228 28 A

[Profitfrom operations 820 1362)





Task 2.5

[image: image14.png](a) Complete the table below and calculate the net present value of the proposed replacement
‘machine (to the nearest £000). You MUST enter minus signs where appropriate in order to obtain full marks.
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(b)  Calculate the payback of the proposed replacement machine to the nearest whole month.

The payback periodis [ 2 | yearsand [ 4 | months





�Sunday hours





The figures for Sunday hours in this task may be entered as 3 hours of double time made up of either:�


£0 basic pay and £72 overtime premium, viewing all of the hours on Sunday as overtime premium (as shown in the model answer); or�


£36 basic pay plus £36 overtime premium.�


Both methods are equally valid for the purposes of this assessment.





Please note that the figures in the Total row will need to be duly adjusted if using the second method.
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